innovative Parts Cart C™
Assembly Instructions

Step 1:
Remove all shelves and support arms
from SuperStorage Parts Cart “B” Series.

Remove right side “B” Series leg support
tube. Transfer wheels to “C” Series leg
support tube. Fasten “C” Series leg support
tube to frame. Repeat for left side.

Support arm mounts
top side of shelf

B
Shelf assembly
Put longer pin on the left side of all shelves.

Put shelves and support arms in desired position.
Note: always keep heavier objects on bottom shelves.

Option “C” Part List

2 - Leg Support Tubes (P/N 290-027)
3 - Support Arms (P/N 290-019)

3 - Support Arms (P/N 290-021)

3 - Baskets (P/N 290-014)

2 - Support Arms (P/N 290-003)

1 - Hardware Kit



Innovative Parts Cart C™

HOOK
P/N 290-022
aTy 6
FLAT WASHER (18)
LOCK WASHER (18)
UPPER FRAME SUPPORT
P/N 290-007
PPORT ARM SIDE_RAIL TUBE
PN 260-003-8 P/N 290-023-6 (21
QTY (4)
1/4-20 HEX BOLT
2 QTY (36
.
5
° PLASTIC CAP (16])
.
R
o
5
5
1/4-20 HEX NUT (36)
CENTER FRAME SUPPORT "
P/N 290-008
L ~
T v T ®
! . SUPPORT ARM
P/N 290-019-B
o . aTY 161
5
SIDE RAIL TUBE B
P/N 290-017-B (2)
<
o B
BASKET
° P/N 290-014
oTY 16
o
° SUPPORT ARM
P/N 290-021-B
N aTy 6
o
SUPPORT LOWER FRAME
B/N 290-015 R
3/8- 16 HEX BOLT
(o ‘E' QTYy (18)
dh
- PLASTIC CAP
Q7Y (4)

1/2-13 HEX NUT
QTyYy 14)

4"TOTAL LOCKING
CASTER WHEEL
QTY (4)

3/8- 16 HEX NUT
QTY (18)

LEG SUPPORT TUBE
P/N 290-027
2)
FEB 2006

www.innovativetools.com




